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S = 426.19
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Kandelaber R4-96

LPÜ 0.3 m
LPH 10 m

Kandelaber R4-95

LPÜ 0.3 m
LPH 10 m

ES-SS AN01

T = 1.50 m
S = 424.22
A = 425.22
D = 425.72
ø 600

→ Notüberlauf
Deckel gelocht

ES-SS VN06

T = 1.50 m
S = 424.60
A = 425.60
D = 426.10
ø 600

→ Notüberlauf
Deckel gelocht

ES-SS VN05

T = 1.50 m
S = 424.67
A = 425.67
D = 426.17
ø 600

→ Notüberlauf
Deckel gelocht

ES-SS VN04

T = 1.50 m
S = 424.82
A = 425.82
D = 426.32
ø 600

→ Notüberlauf
Deckel gelocht

T = 1.50 m
S = 425.07
E = 426.07
D = 426.57
ø 600

ES-SS VN03

→ Notüberlauf
Deckel gelocht

ES-SS VN 02

T = 1.50 m
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A = 425.14
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Deckel gelocht
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